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A BENED
B BN ABYs
o9l PRBH YEAD 7S (29 a8)
DA HB B (EH) - MBAY - BAS o A o SSa H RS2
11 IIEtE &2 10,000 20,000 A 10,000
OeRs2dl AIEIS X3 10,000
HAEH oMY 208,906 269,061 AB60, 155
101 @121l 56,656 97,361 N40,705
04 JI2ZtH 22 XNEE 56,656 97,361 N40,705
OsdsIH € FO0FH Aoy o2
7,530& *209A| 2t x 128 x3H 56,656
201 et A | 33,250 32,700 550
01 AFR2t2ld] 33,250 32,700 550
OE AL} =2 & MZE 250,000& 25 6,250
OeaZ AT M 1,000,000& *x23] 2,000
OoAIEdE AMEE S 2 6,000& *300H 1,800
OHERAA HEE 200,000& *4H x183] 14,400
OQAIZZ MHRES ¢ 2,000
OPCMNIER ZSHEY £ SHLHM
300,000& *43| x4 = 4,800
O32RAE & A& 2,000
202 (4] 79,000 139,000 A 60,000
01 2L Y] 7,000 7,000 0
OxZ &2 7,000
04 = X3 bl 72,000 132,000 A 60,000
02018 & X0l & X off 2 H =
4,000,000 *18H 72,000
301 AP B A 40,000 0 40,000
06 QI2t0I =2 (4 B 40,000 0 40,000
ORINHEZ2ZZ A oHAN RAIZH A
2,000,000& *20H 40,000
ZF0I3tgr A 29 133,350 133,350 0
201 et A | 83,350 68,350 15,000
03 SHALZ H I 83,350 68,350 15,000
OYaZoo & Alat 900,000& 54 4,500
OF Al 15,000
OHololy Jgd A X& 23,000
OFE M L &€& 1,800& 1,500 2,700
OgaZao & JEA 35,000
OLalZoe & SAIR SAIH 7,000& #4509 3,150
307 QI2t0| M 50,000 65,000 A 15,000
02 DIZtZAAMEE X 50,000 65,000 A 15,000
OYazao & g SOt A 35,000
OYaZolo Y glg SAMAL 15,000

- 246 -




<

n0

Kio

Hl w

A 54,000
54,000

54,000

29,000
A 9,000
A 13,000

4,000

H3r
Wikd
RIS

13,500

10,500
10,500
3,000
3,000

137,500
137,500
10,000

127,500
15,000
15,000
15,000

15,000

15,000
15,000
59,000
59,000
56,000

3,000

8,000

8,000

Off &t 24

13,500
10,500
10,500
3,000
7,500
3,000
3,000
3,000

83,500
83,500
10,000
10,000
73,500

53,500
20,000
15,000
15,000
15,000
15,000

156,000

15,000
15,000
15,000
50,000
50,000
43,000
13,000
30,000

7,000
7,000

8,000
3,000
5,000
8,000
3,000
5,000

I}

mH

I

[

2N

X ZH
el

gt 25

=
0

2«30
2«30

o
)
2
&

AOITA H &
250,000
100,000

| DA,

tel i

1
)

01 ALS

[l

30
U

10
0
O

oH

I

I

1
1

Kl *
2l %

53,500,000
20,000,000

(]
=

t

[=}
[l

2|

1A

=

BI Xl

=)
[nd

2|

o
X &
HA+H X

3l

S

H

',
DA

©)

al

04 Xt
In|

10
307 glztol &

S|

oD

-

10

Rl
70
Ko
Ar
H
L
ju
<1

|

=

o X&

307 glztol &
307 21201 &

Ki
H

30
OH
RO
il

R

uJ

~

=1

3

S XIAE Al

=]

BH

RO

- 247 -




SN BEIE D
HE: HIAY ABAE
ool FUHY YEHYD 1S CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
03 A2 I 8,000 8,000 0
OEXIAF Al 28 AL 8,000
< 3,000
= 5,000
Ol E & AHD| &2 919,820 943,280 N 23,460
201 2Et2Hy| 25,000 0 25,000
03 Al HH| 25,000 0 25,000
O0|HE 223 IS 25,000
301 et A= 894,820 923,280 N 28,460
02 et=adet k2 8,000 8,000 0
OO0I&XRH &st2 2,000,000 42 D| 8,000
05 & -0|2 - tEESEAZ 886,820 876,880 9,940
O0l&% 849,520
—J=2 200,000 2593 x123| 621,600
— a2 200,000& x259H x23| 103,600
— 3o EME LG 20,000 x259H « 128 x23| 124,320
OBt&4=& 50,000 «746H 37,300
Ol ol 242 15,360 15,360 0
< 7,680
= 7,680
307 QI2t0| ™ 15,360 15,360 0
< 7,680
= 7,680
06 282 15,360 15,360 0
OO0 ESHAMMNEE 15,360
< 7,680
= 7,680
28 A2 1,254,989 0 1,254,989
o= 14,365
= 1,240,624
201 et 9| 22,897 0 22,897
= 7,632
= 15,265
01 AP 22| H| 22,069 0 22,069
OHMI73 FZSAXNEEH AHLASZE(HES
2S) 12,469
= 4,156
= 8,313
OHNI73 FZSAXNEEH AHASZ=E (2|
) 9,600
< 3,200
= 6,400
02 2% H| 828 0 828
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M HFHXF A2
Sl FAMY YEYT IS (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OM73 B=2SAMALEH dAHALRFE(HAE
H) 828
< 276
s 552
202 O4dl 17,400 17,400
< 5,800
s 11,600
01 = LH 4 bl 17,400 17,400
OHM73 M=asAXNYEH dHLLSFX(0H]) 17,400
= 5,800
s 11,600
203 YR =2t 2,800 2,800
< 933
[ia 1,867
03 AMFTHRE 2,800 2,800
OM72 d=2& HdHYRFA 2,800
= 933
s 1,867
308 AHXIEHHSOIA 1,211,892 1,211,892
11IJIEtRES 1,211,892 1,211,892
OHM73 M2 SA =Hl 2 AN 251,842
OM7al d=FA AF - A5 EH 28,050
OHM73 M2 SA EHHE 932,000
MOIESXIE X 4 & 3,464 A 110
< 1,732
s 1,732
301 et d s 3,464 A 110
< 1,732
s 1,732
02 Het=stit= 3,464 A 110
OMOFS X & XX+ 3.464
< 1,732
s 1,732
SO XX A X 218,880 7,000
301 et a = 210,880 4,000
09 &AL HIZ A S 12,880 0
O XX 10,000
OYMZ FOURX ojEA AR
o 2,880
1MIIEBESS 198,000 4,000
OFUXXNEZ 198,000
307 glz2+ol & 8,000 3,000
02 QI2ZtE M AMHEE 8,000 3,000
Osd =eXx 5,000
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SN BEXAD
B BN ABYs
ool YT YEYD 71E CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
02 DIZtZAAMEE X 6,500 0 6,500
Ost=2kasdY dAZX3 MGEAA 6,500
B OIZAHHBPESIHIEX 20,000 0 20,000
Ost=2AssAY dAZ2XE XA 20,000
=252 oHstn 29 3,750 0 3,750
= 1,500
= 2,250
201 Bt A | 3,750 0 3,750
T 1,500
= 2,250
01 AP 22l Yl 3,750 0 3,750
Oase2 odstn 29 3,750
= 1,500
= 2,250
HE 23 A & At 1,038,615 1,080,333 N41,718
= 12,981
= 1,025,634
ES FAEE XM 399,583 372,494 27,089
101 @121l 219,439 196,214 23,225
04 JI2ZtH22XNEE =+ 219,439 196,214 23,225
OFANEX Q2L 7,000
OMz=&g o2 3,000
OZFAN HARAA oFY 100,945
—-JI=23 60,2403 *4H 249 60,000
—A&03 14,999,760 x4 x4 /12 20,000
—F=F5Y 60,240% x*4H 52 12,530
PN 60,240 x4H x 15 3,615
— BE FItHI 600,000& x4H 23] 4,800
OFWHAY Ze2lAH, =2l&d o8 80,099
—-JlE2a 58,3403 *3Y x249 43,580
— &2 14,526,660 *3%H x4/12 14,527
- S3FETE 58,340 x3H x52! 9,102
PN 58,340 *3H x 15 2,626
— @& S0ty 600,000& *3H 23| 3,600
— g4 50,0002 *3H x12& 1,800
— XelALX A =& 20,000& x2H x12& 480
—AZ2t224 8, 1173 *3H x15A| 2tx12& 4,384
OFHAY HAA 012 28,395
—-JI=3 63,2003 * 14 x249 15,737
— &2 15,736,800 x 1 %4/12 5,246
—F3FRsE 63,200 * 1Y x52 3,287
— X< 63,200 *1H x15L 948




SN BETAD
HE: B AHAS
B2 oo = SREED

SH-HH . B(SH) - HBAMY - B2 O 4t 0t il 2

— H@E SOty 600,000& x1H 23] 1,200
— A2t = 8,980 x 1H +12& *15A| 24 1,617
— XA E 30,000& *x1H x12& 360

201 et A | 168,144 164,280 3,864

01 AFR2t2ldl 148,420 145,240 3,180
OYg&aY 88,020
— =25 60,0003 *3H x366 65,880
— X 60,0003 *3H x118 21,240
—UHHE=: 60,000& *3Y x5 900
Ogaaesd 3,000,000& x1& 3,000
ONEEN T2 S 3,000
OFANESH HE S bl 5,000,000& =1 5,000
OEI=Z21 € JizJ| #7¢ 5,200
—B=2I1(HR) 6,000& x200 & 1,200
—EI=2D1(0I2) 8,000& *500& 4,000
OF A2 27,000
OFUAY 29 3,000
OZ AN A 23 7,200
OZFAN EFA 3,000
OZ &AM A8 HA 4,000

02 3524t 19,724 19,040 684
OagtotdE oI5 3H| 80,000& =14 80
OXSHHAIE L CCTV X2 (28) 8,000
OFA AYOHMAEA 637,000& = 12& 7,644
OFAN A=8HY 800,000& *53] 4,000

202 (4] 12,000 12,000 0

01 2L Y] 12,000 12,000 0
ONIREM 9,000
O2MAS 3,000

E=2 22 90,592 156,987 66,395

201 LEt2 Y| 90,592 79,987 10,605

01 A2 22| I 37,580 37,580 0
Oz 8,000,000& x 1 8,000
OZdIELLE M 20,000& x1,250% 25,000

OZAAMS SIRHEN HE SEFY

500 1201 & S =150« 122 1,080
oJlsa2g 3,000,000& x 1 3,000
oHlglIggr gl 500& *1,000% 500

02 332494l 53,012 42,407 10,605
O=28 25E7¢ 10,000,000& =14 10,000
OSANAS EHlg 2ER22 5,000,000 x1E 5,000
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SN BEIE D
My BN AYLE
el #E2s e B CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OEZIIIS&AAANLY RRE S 38,012
TEFR AMHAY 141,118 146,958 25,840
101 @124 dl 25,618 21,958 3,660
4 JI2ZHHZ22XEES 25,618 21,958 3,660
OJIZHZZ2 X (HIAN) o2 25,618
—Jlas 60,2403 %2502 15,060
— &0z 15,060,000& *4/12 5,020
—SeFsrE 60,2403 52 3,133
S DN RS 60,2403 x20 1,205
— ZE S| 600,000& *23| 1,200
201 €24 38,000 38,000 0
01 At 22/l 26,000 26,000 0
O=DJt0lsretsE dF A | 5,000,000 5,000
Ofs4d 29 15,000, 000& =14 15,000
ODNEUAAXe Sl 6,000,000& =14 6,000
03 &Ar2 I 12,000 12,000 0
O =33 @A XA 12,000,000+ 1 12,000
202 04l 17,000 17,000 0
01 = LH 4 Hi 17,000 17,000 0
OBYeH 22 2 YRR
12,000, 000& =14 12,000
OnselaaHel 5,000,000 5,000
203 R =&t 60,500 70,000 A 9,500
03 A F=XH R =AY 60,500 70,000 A 9,500
OZE FQHA AHAY =X
60,500,000 » 14 60,500
NEZ=823 84 6,000 9,000 A 3,000
201 €24 6,000 9,000 A 3,000
02 =224l 6,000 9,000 A 3,000
OF=ANZZ=7EZE 23 3|
4,000,000& x 14 4,000
Od=s0HEXNS Z=8 23l 3|
2,000,000& »14 2,000
nssd 29 313,800 313,800 0
201 Let24d] 100,000 83,800 16,200
01 At 22l 100,000 83,800 16,200
OdZusndE 250,000& *240H 60,000
O#aeldnsd 5,000,000& »3H 15,000
Obzsdl eld s 1,500, 000& *5H 7,500
OgZFussd (2220 =]) 250,000 509 12,500
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SN HIXAD
B BN ABYs
& YIS HL =4t (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 9,981
04 D12t Z2XEES 19,962 17,688 2,274
OHd= AtSI = A Q124H| 19,962
< 9,981
[ia 9,981
201 Let24d] 10,000 10,000 0
< 3,000
s 7,000
01 At 22l 10,000 10,000 0
O&S AZIZAF ZALE M E 2,000
< 1,000
e 1,000
O&S A=A EellE M= 4,000
< 2,000
[ia 2,000
O &85 A3 ZAL B0 22t 4,000
=SsH0 dZFEs ¥ 2,227,311 950, 302 1,277,009
= 596,300
< 13,238
s 1,617,773
SAAIAE S X 2el 451,420 381,589 69,831
201 £B-2dH| 140,881 125,763 15,118
01 At 22l 3,320 3,320 0
O&FEs 2d SHIHE M 50,000 *6H 300
O&dEs & 282 84 MZE 200,000 34 600
OFXMA Mo FE BsHWE A=z
300,000& =23] 600
O=ZglH Edxd 330,000& *43| 1,320
OXtg&Ea& Co/ov0 ¢ 5,000 *100& 500
02 =24l 137,561 122,443 15,118
OZHOIX |XEE= 8,535
—otEAN 6,677,000% 8% 535
— AT EY N 100,000, 000& *8% 8,000
OMeIBE BSAAY SANE+(AEH)
23,980,000 *8% 1,919
OMBEBEHY RAES 40,400,000 *8% 3,232
ORENMMIAEIX SANE=> 79,000,000 *6% 4,740
OdLSHRRE = 35,500,000 *8% 2,840
OZHOIXl AHY AHEZ(HE, )
55,000« 128 20 & 1,320
OXNSRELYNAIAE RXE+
33,800,000 x8% 2,704
OEXIIYAMM RANE= 36,587,500 *8% 2,927
OWEALX RANES 54,196,000 *8% 4,336
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AN HEXF D
HE: HIAY ABAE
Sel: EEXQ WYL 2 (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ONYHEFZFEL SAES 88,400,000 *8% 7,072
OBARX SXNE = 105,000, 000& *8% 8,400
OMHFZZLHANLE RAAE
61,500,000 *8% 4,920
Osgorze (et gIIH)AMAE FANE
97,900,000 *8% 7,832
OUERHIALSIEH RANES
80,000,000 *8% 6,400
OXAZEIAAE S22 (DBAIRE X&)
35,081,800 x11% 3,859
O2U2tAIAE SXIZ 2= (HW,08,JEtE =)
338,259,000& *10.6% 35,856
OBotxH HZ 22HE KFRANES(34) =X
2= (3,000, 0002 *34] )x15% 1,350
OlpEot&e|AlAE S X & == (NAC)
68,762,500 *8% 5,501
OEZHON & WARASZE AAE SAE=
54,600,000 *8% 4,368
OXHsSE T2 AL 2,500
OgeE ZFRH RAE= 1,130CH=15,000& 16,950
202 04 Hl 2,000 2,000 0
01 =LH YI 2,000 2,000 0
OFESH 2,000
207 A& H| 62,733 102,999 A40,266
02 & A I 62,733 62,733 0
OutoledA gal T2 8 A (L0H0E)
48,1603 6004 28,896
O#HFARE AZTEQN P2 33,837
308 XXM SOIA 110,806 16,555 94,251
10 B2 SUHUEEAHEAE A I 110,806 16,555 94,251
O=2LictAl A8 Al H 2 X3 18,743
OXNYAANEEANALY SANE 5,000
OXNYHHSHEDAAY MLHE 2SS 6,160
OANZTHEFZSHLAFHI S A 22 80,903
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s 4,320
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< 4,320
= 4,320
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OAZ= 2H 0/2A 28,800
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< 4,320
i 4,320
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s 5,390
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(@)=FSi=: 38,487,945,000& *4.092% 1,574,927
O xY 232 38,487,945,000& *5.7397% 2,209,093
OMdtEs 232 38,487,945,000& *0. 170% 65,430
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